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Instructions:

1. Attemptall questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.

Q.1 (a)
{b)
Q2 (a)
(b)
(b)
Q3 (a)
(b)
Q3 (a)
(b)
Q4 (a)
(b)

Derive the equation for delta to star transformation. Three resistances of 400.
50€2 and 60 are connected in star connection. Find the equivalent delta
connected resistance.

Explain factors affecting to the Resistance. Also give difference between emf
and potential difference.

Define the term:-

Flux density

MMF

Magnetic field strength
Reluctance
Permeability
Permeance

Reluctivity
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Compare Magnetic circuit with Electric circuit.

OR
An iron ring of Im average diameter is made from iron of 15¢m? cross
sectional area. 300 turns are wound over it. Calculate the value of current
necessary to produce flux of 1.5mWb. Assume permeability of iron as 600.

State and Explain Dynamically induced emf and Statically induced emf.
Obtain the equation, K = %_ for co-Efficient of coupling.
R ] =
1 OR
Calculate equivalent capacitance when three capacitors of 30uF.60uF and

90uF are connected in series and parallel.
Derive the formula for Energy stored in capacitor.

Define the terms:-

. Cycle
. Frequency
Instantaneous value
Average value
Form Factor
Peak Factor
RMS Value
Expression for equation of AC current is given by i=100sin(2750t)ampere
find:

1. Maximum value

No LW
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Q.5

Q.5

(a)
(b)

(a)
(b)

()
(b)

Frequency
Angular frequency
Time period

=

OR
Drive the expression of power consumption for AC through pure resistance.
Explain the RC series with circuit diagram And waveform.

Derive the expression of power consumption for AC through pure inductance.

Compare series resonance with parallel resonance.

OR
State advantage of 3phase system over 1phase system. Explain generation of
3phase voltage with waveform.
A resistance of 20Q2 and an inductance of 0.2H are connected in series across
230V, 50HZ supply.

Calculate:-
1. Inductive reactance
2. Impedance
3. Current
4. Power factor
5. True power
6. Reactive power
7. Apparent power
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